AXVA (SAE) Variable Displacement
Piston Pumps -2022-

New Development Variable Displacement Piston Pumps, High Pressure Pumps,
380/420 BAR Working Pressure. High Rotational Speed, High Efficiency,
Slim Design, Cast Iron Pump Body, Re-Designed in 2022.

Designation;
40cc, 60cc, 75cc, 92cc, 120cc

Hidrapac m

www.HIDRAPAC.com.tr

www.HIDRAPAC.com sales@HIDRAPAC.com
www.HIDRAPACHYDRAULIC.com




AXVA (SAE) Variable Displacement Q hldrop

Hydraulic Piston Pumps -2022-

Characteristics of the AXVA (SAE) Variable Dsplcmnt Piston Pumps

| oo | oot | 7R | ronaue [ mewereeo [ wae | gy | ot
MODEL PRESSURE | INTERMITTNT " DISPLACMNT | IN STAND BY .
(bar) (bar) (i) (rpm) ) (N.m)
AXVA (SAE) 40
(CW/CCW) 40 400 420 225 3000 3000 26 34
AXVA (SAE) 60
(CW/CCW) 60 400 420 335 2600 3000 26 34
AXVA (SAE) 75
(CW/CCW) 75 400 420 420 2000 3000 26 34
AXVA (SAE) 92
(CW/CCW) 92 400 420 515 1900 3000 26 34
AXVA (SAE) 120
(CW/CCW) 120 380 400 675 2100 3000 26 34

www.HIDRAPAC.com sales@HIDRAPAC.com
www.HIDRAPACHYDRAULIC.com



AXVA (SAE) Variable Displacement I X
Hydraulic Piston Pumps -2022- es hldl’O pGC

nnnnnnnnnnnnnnnnnnnnnnnnnnnn

Ordering Code; AXVA (SAE) Variable Dsplcmnt Piston Pumps

Model Code Displacement Shaft Type Flange Type Rotation Sealing
AXVA (SAE) 92 S H4 Ccw \'/
l l l l [ l
AXVA (SAE) . 40 S H4 CW \Y;
Variable .- |
_ plined ISO RIGHT Viton
il Shaft 7653 High
ydraulic (default) @80 Direction Pressure
Piston 8x32x36 4 Bolt of Seal
Pump D%’;‘,\'ISFO Flange Rotation [
SAE Flge | | N
K CcCw
Nitrile
Parallel LEFT Seal
Keyed 5/10
Shaft Direction Bar
(special) of
DIN Rotation
6885
@
/M ™
@I 3
I g |
=

[

= Shidrapac
— www.hidrapac.com

~0

www.HIDRAPAC.com sales@HIDRAPAC.com
www.HIDRAPACHYDRAULIC.com



AXVA (SAE) - 40 cc Variable Pump  ‘hidrapac

219 (55.5) 1091 (277)
1.30 (33) 3.78 (95.95) Drain 9/16"-18UNF-28 8.386 (213)
Max.pressure setting | to be connected to the tank 7.126 (181)
am
Standb
S1 051(13) preSSur\g setting ‘ @ / C1
05(127) Drain G3/8" =
1@) © %
Splined shaft SAE J744 =
14T 12124DP /| S— :I 3
g F Il
< 1 & 2x@0.79 (8 20)
140 (28) L~ 3
N T — 0
1.87 (47.63)| | 0.31(7.87) Drain G3/8"
SAE C - 2 bolts (SAE J744)
575 (146)
451 (1145)
2.20 (55.9)
0.51(13) LS 9/16"-18UNF-2B
K1 05(12.7) C2
Keyed shaft @1 1/4" SAE J744
. M8x1.25-6H
5|3 5
IR 2
s S
s &
= — 4x@0.56 (014.3)
S
189 48) | | 031(7.87)
SAE C - 4 bolts (SAE J744)
4.92 (125) 4.92 (125)
g ©)
11/16"-12UN-2B 2x 3/8"-16UNC-2B O 1 7/8"12UN-28
depth 0.59 (15) A e-12ON-2

0.98 (25)
1.14 (29)

~
=

M/

-
—

(J

[
1 :
1 7/8"-12UN-2B | 2x 3/8"-16UNC-2B
- () depth 0.59 (15) 1 1/116"-12UN-2B

0.75 (19)
1.10 (28)

0.25 (6.45)

0.59 (15)
0.98 (25)

1.14 (29)

[T
WA

()
AN\ T/

0.75 (19)

1.10 (28)

1.42 (36)

142 (36)

sales@HIDRAPAC.com

www.HIDRAPAC.com
www.HIDRAPACHYDRAULIC.com



AXVA (SAE) - 60 cc Variable Pump  ‘hidrapac

219 (55.5) 1091 (277)
1.30 (33) 3.78 (95.95) Drain 9/16"-18UNF-28 8.386 (213)
Max.pressure setting | to be connected to the tank 7.126 (181)
am
Standb
S1 051(13) preSSur\g setting ‘ @ / C1
05(127) Drain G3/8" =
1@) © %
Splined shaft SAE J744 =
14T 12124DP /| S— :I 3
g F Il
< 1 & 2x@0.79 (8 20)
140 (28) L~ 3
N T — 0
1.87 (47.63)| | 0.31(7.87) Drain G3/8"
SAE C - 2 bolts (SAE J744)
575 (146)
451 (1145)
2.20 (55.9)
0.51(13) LS 9/16"-18UNF-2B
K1 05(12.7) C2
Keyed shaft @1 1/4" SAE J744
. M8x1.25-6H
5|3 5
IR 2
s S
s &
= — 4x@0.56 (014.3)
S
189 48) | | 031(7.87)
SAE C - 4 bolts (SAE J744)
4.92 (125) 4.92 (125)
g ©)
11/16"-12UN-2B 2x 3/8"-16UNC-2B O 1 7/8"12UN-28
depth 0.59 (15) A e-12ON-2

0.98 (25)
1.14 (29)

~
=

M/

-
—

(J

[
1 :
1 7/8"-12UN-2B | 2x 3/8"-16UNC-2B
- () depth 0.59 (15) 1 1/116"-12UN-2B

0.75 (19)
1.10 (28)

0.25 (6.45)

0.59 (15)
0.98 (25)

1.14 (29)

[T
WA

()
AN\ T/

0.75 (19)

1.10 (28)

1.42 (36)

142 (36)

sales@HIDRAPAC.com

www.HIDRAPAC.com
www.HIDRAPACHYDRAULIC.com



AXVA (SAE) - 75 cc Variable Pump  ‘hidrapac

219 (55.5) 1091 (277)
1.30 (33) 3.78 (95.95) Drain 9/16"-18UNF-28 8.386 (213)
Max.pressure setting | to be connected to the tank 7.126 (181)
am
Standb
S1 051(13) preSSur\g setting ‘ @ / C1
05(127) Drain G3/8" =
1@) © %
Splined shaft SAE J744 =
14T 12124DP /| S— :I 3
g F Il
< 1 & 2x@0.79 (8 20)
140 (28) L~ 3
N T — 0
1.87 (47.63)| | 0.31(7.87) Drain G3/8"
SAE C - 2 bolts (SAE J744)
575 (146)
451 (1145)
2.20 (55.9)
0.51(13) LS 9/16"-18UNF-2B
K1 05(12.7) C2
Keyed shaft @1 1/4" SAE J744
. M8x1.25-6H
5|3 5
IR 2
s S
s &
= — 4x@0.56 (014.3)
S
189 48) | | 031(7.87)
SAE C - 4 bolts (SAE J744)
4.92 (125) 4.92 (125)
g ©)
11/16"-12UN-2B 2x 3/8"-16UNC-2B O 1 7/8"12UN-28
depth 0.59 (15) A e-12ON-2

0.98 (25)
1.14 (29)

~
=

M/

-
—

(J

[
1 :
1 7/8"-12UN-2B | 2x 3/8"-16UNC-2B
- () depth 0.59 (15) 1 1/116"-12UN-2B

0.75 (19)
1.10 (28)

0.25 (6.45)

0.59 (15)
0.98 (25)

1.14 (29)

[T
WA

()
AN\ T/

0.75 (19)

1.10 (28)

1.42 (36)

142 (36)

sales@HIDRAPAC.com

www.HIDRAPAC.com
www.HIDRAPACHYDRAULIC.com



AXVA (SAE) - 92 cc Variable Pump  ‘hidrapac

219 (55.5) 1091 (277)
1.30 (33) 3.78 (95.95) Drain 9/16"-18UNF-28 8.386 (213)
Max.pressure setting | to be connected to the tank 7.126 (181)
am
Standb
S1 051(13) preSSur\g setting ‘ @ / C1
05(127) Drain G3/8" =
1@) © %
Splined shaft SAE J744 =
14T 12124DP /| S— :I 3
g F Il
< 1 & 2x@0.79 (8 20)
140 (28) L~ 3
N T — 0
1.87 (47.63)| | 0.31(7.87) Drain G3/8"
SAE C - 2 bolts (SAE J744)
575 (146)
451 (1145)
2.20 (55.9)
0.51(13) LS 9/16"-18UNF-2B
K1 05(12.7) C2
Keyed shaft @1 1/4" SAE J744
. M8x1.25-6H
5|3 5
IR 2
s S
s &
= — 4x@0.56 (014.3)
S
189 48) | | 031(7.87)
SAE C - 4 bolts (SAE J744)
4.92 (125) 4.92 (125)
g ©)
11/16"-12UN-2B 2x 3/8"-16UNC-2B O 1 7/8"12UN-28
depth 0.59 (15) A e-12ON-2

0.98 (25)
1.14 (29)

~
=

M/

-
—

(J

[
1 :
1 7/8"-12UN-2B | 2x 3/8"-16UNC-2B
- () depth 0.59 (15) 1 1/116"-12UN-2B

0.75 (19)
1.10 (28)

0.25 (6.45)

0.59 (15)
0.98 (25)

1.14 (29)

[T
WA

()
AN\ T/

0.75 (19)

1.10 (28)

1.42 (36)

142 (36)

sales@HIDRAPAC.com

www.HIDRAPAC.com
www.HIDRAPACHYDRAULIC.com



AXVA (SAE) - 120 cc Variable Pump  ‘hidrapac

219 (55.5) 1091 (277)
1.30 (33) 3.78 (95.95) Drain 9/16"-18UNF-28 8.386 (213)
Max.pressure setting | to be connected to the tank 7.126 (181)
am
Standb
S1 051(13) preSSur\g setting ‘ @ / C1
05(127) Drain G3/8" =
1@) © %
Splined shaft SAE J744 =
14T 12124DP /| S— :I 3
g F Il
< 1 & 2x@0.79 (8 20)
140 (28) L~ 3
N T — 0
1.87 (47.63)| | 0.31(7.87) Drain G3/8"
SAE C - 2 bolts (SAE J744)
575 (146)
451 (1145)
2.20 (55.9)
0.51(13) LS 9/16"-18UNF-2B
K1 05(12.7) C2
Keyed shaft @1 1/4" SAE J744
. M8x1.25-6H
5|3 5
IR 2
s S
s &
= — 4x@0.56 (014.3)
S
189 48) | | 031(7.87)
SAE C - 4 bolts (SAE J744)
4.92 (125) 4.92 (125)
g ©)
11/16"-12UN-2B 2x 3/8"-16UNC-2B O 1 7/8"12UN-28
depth 0.59 (15) A e-12ON-2

0.98 (25)
1.14 (29)

~
=

M/

-
—

(J

[
1 :
1 7/8"-12UN-2B | 2x 3/8"-16UNC-2B
- () depth 0.59 (15) 1 1/116"-12UN-2B

0.75 (19)
1.10 (28)

0.25 (6.45)

0.59 (15)
0.98 (25)

1.14 (29)

[T
WA

()
AN\ T/

0.75 (19)

1.10 (28)

1.42 (36)

142 (36)

sales@HIDRAPAC.com

www.HIDRAPAC.com
www.HIDRAPACHYDRAULIC.com



AXVA (SAE) Variable Displacement
Hydraulic Piston Pumps -2022-

nnnnnnnnnnnnnnnnnnnnnnnnnnnn

Complete Product Range

Bent Axis Piston Motors

K2FM (DIN) Bent Axis Motor

K3FH (HYBRID) Bent Axis Motor
A2MS (SAE) Bent Axis Motor

A3MS (SAEZ2) Bent Axis Motor
A2FM (ISO) Bent Axis Motor

A2FE (Fixed Plugin) Bent Axis Motor
A2FE (Two Speed) Bent Axis Motor
A2FT 45 (Inline) Bent Axis Motor

Bent Axis Piston Pumps

K2FA (DIN) Bent Axis Pump

K2FH (HYBRID) Bent Axis Pump
K2FL (Aluminum) Bent Axis Pump
A2FS (SAE) Bent Axis Pump

A3FS (SAE2) Bent Axis Pump
A2FO (ISO) Bent Axis Pump

A3FO (1SO2) Bent Axis Pump

A2FP (Fixed Plugin) Bent Axis Pump

Variable Displacement Motors
AXMV Variable Piston Motor
AXMA Variable Piston Motor
AXMI Variable Piston Motor

Variable Displacement Pumps
AXVP Variable Piston Motor
AXVA Variable Piston Motor
AXVI Variable Piston Motor

Dual Flow Piston Pumps
A2FD (DIN) Dual Flow Pumps
A2FD (SAE) Dual Flow Pumps
A2PD Axial Dual Output Pumps

Axial Piston & Gear Pumps
A3PP Axial Piston Pumps
A3PH High Pressure Pumps
A2GP Gear Pumps

A2GPT Tandem Gear Pumps
A2GM Gear Motors

A2GMT Tandem Gear Motors

Valve (ByPass) (Flushing) (Cavitation)
Circulation Valve

ByPass Valve

Anti-Cavitation Valve

Flushing Valve

LS Valve

AntiShock Valve

Speed Sensor

Hydraulic Spare Parts
Suction Fittings
Couplars

Adapters

Flanges

Power Take Off
Monoblock Valve
Section Valve

www.HIDRAPAC.com
www.HIDRAPACHYDRAULIC.com

sales@HIDRAPAC.com



uuuuuuuuuuuuuuuuuuuuuuuuuuuu

Hydraulic Pumps, Pumps

Bent Axis Hydraulic Piston Pumps, Bent Axis Hydraulic Piston Pumps, Hydraulic Piston Pumps,
Variable Displacement Piston Pumps, Variable Displacement Piston Pumps, Axial Piston
Pumps, High Pressure Piston Pumps, Gear Pumps, Gear Pumps, Hydraulic Valve.

www.HIDRAPAC.com

Address;

HIDRAPAC HIDROLIK iC VE DIS TiC LTD STi

Address; Fevzicakmak Mah. Sila Cad. Kobisan 3 San. Sit.
No:73 / C Karatay — Konya, PO Code; 42050, Turkiye

Phone; +90 551 111 77 44
VAT Number; 462 077 9143

www.HIDRAPAC.com

MAIL@HIDRAPAC.com INFO@HIDRAPAC.com

Hidrapac m Hidrapac m

www.HIDRAPAC.com.tr www.HIDRAPACHYDRAULIC.com

@hidrapac

www.HIDRAPAC.com sales@HIDRAPAC.com
www.HIDRAPACHYDRAULIC.com



	1

